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Questions 1-10 [\ ‘ U/(Lu’v }) )

The final battle of the War of 1812 was the Battle of New Orleans. This battle gave a clear
. demonstration of the rieed for effective communication during wartime; lso showed the disastrous
<" results that can come to pass when communication is inadequate. -
Line The War 0@”215 fought between Great Britain and the very young country of the United
(5)  States only a relatively few years after the United States had won its independence from Britain. The
) United States had declared war against Britain in June of 1812, mostly because of interfer_c::nce with
{s ¢,  U.S. shipping by the British and because of the shanghaiing of U.S. sailors for enforced service on
‘==~ British vessels. The war lasted for a little more than two yeas, when a peace treaty was signed at
Ghent, in Belgium, on thé 24th of December, 1814.) (g
(10) Unfortunately, the news that the Treaty of Ghent had been signed and that the war was officially
over was not communicated in a timely manner over the wide distance to where the war was being
[_contested. Negotiations for the treaty and the actual signing of the treaty took place in Europe, and
news of the treaty had to be carried across the Atlantic to the war front by ship. A totally unnecessary
loss of life was incurred as a result of the amount of time that it took to inform the combatants of the
(15) treaty. g ;L i
Early in January of 1815) some two weeks after the peace treaty had been signed, British troops
in the southern part of the United States were unaware that the war had officially ended. Over 5,000
British troops attacked U.S. troops. During the ensuing battle, known as the Battle of New Orleans,
the British suffered a huge number of casualties, around 2,000, and the Americans lost 71,allina
(20)  battle fought only because news of the peace treaty that had already been signed in Ghent had not yet

reached the battlefield.
1. The main idea of this passage is that i 4. According to the passage, when did the
United States win its independence from
(A) the War of Independence was Britain?
unnecessary .
(B) the War of 1812 was unnecessary OL (A) Shortly before the War of 1812
(C) the Treaty of Ghent was unnecessary . (B) During the War of 1812
@ the Battle of New Orleans was (C) Just after the War of 1812
® 1/ = unnecessary @ Long after the War of 1812
2. The pronoun “it” in line 2 refers to 5. According to the passage, some U.S. sailors
N o () battle e - ‘
@ . (B) demonstration (A) taken forcibly to Shanghai
(C) communication ) (B) made to go to Ghent
(D) wartime ‘/Q(.'g_jforced to work on British ships
_ (D) responsible for causing the War of
" 3. The expression “come to pass” in line 3 1812

could best be replaced by

@) Al s, 0.p 6. ‘I'\tr al: ISOT stated in the passage that Ghent
(B) overthrow
(C) self-destruct (A) where negotiations took place
(D) circumvent (B) the site of the final battle

@ (CJ where the treaty was signed

7. The word “contested” in line 12 is closest (D) far from the battlefield

- l-neamng = 3 8. It can be determined from the passage
@) played E that, of the following dates, the Battle of

5 . (@BY fought ‘ New Orleans was most probably fought

(Q) discu_ssed (A) onDecember 10, 1814
e (D) examined : ,

KQB')“‘ on December 24, 1814
(C) on January 1, 1815
(D) onJanuary 8, 1815
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ave you found a job ......... 2

bysll o

a) soon

c) longer ¥ @d)‘ By, c,,.L& e 2
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10. I gave them ............ books. <& St (’,“"#
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14. Did you ......... anywhere interesting last weekend?
V)
= - e) :
\Aut/‘(\‘aBgo =, e b) going
C/’ c) was d) went
2
E@work asa teacher and my wife ......... , too. | che ¥ K5
a) do Yealchm 1) 8 ged) o b) is .
- - She
¢) work @ (@)does s 14 ¢
- . ','519 4 . \ i g
o @ 16. He hasn’t played Since he ......... the accident.
v as “ 5 ~7 She
— A (3had B (‘byhas had \msv s
¢) has P‘-f(‘( d) had had X
17. Somebody stole his walletso he ......... money from a friend. ==
R : ' siCe |
& a) lent S b) earned
J\)/.borrowed ; Olendeg_ /‘l/\“ 7
A va5
18. We must go now. Call the waitress and ask for the P ‘
U) blll ( (‘P'D) ;}/’\I)P P b) invoice _ }} y\o
*c) price k 5 “ah = d) cost - W‘U;\)
UK,/.;/K 19. H{‘)i frlen ........ - \\ Z
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@the[@v o d) their
20, Isicoes than his father?
a taller b) taller Matt
&c)/ att more tall * d) Matt as tall as
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